EARAROBEEIERT — 2 N— IBISH —F 2012837140 (k) 28mEHMH5H

el >%4mLE C3— BRI R
[A&4£] 1% :200,000" ~ 2#%:36,000” ~ 337%&:18,000 ™ . 43&:10,000 57 :6,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S 3 6 | BRES 1:33.4 9-9-6-5 |39.1| — 4 431 | FHE (EHE)
118l10| ¥V T /RY 540 i (s |tEEE
RHALL PSR~ BiTyx—ET Y- TE4S
2 o | TARTAT # 5 gg%iﬂ 1:(313).6 1-1-3-1 | 40.6| — | 1 | 456 g%gé ()
LT >N=h )= B:T1—4—04> (#5) e rae ]
355 | HU—H—F> o 4 g’:ﬁ)%?@ 1:(3233.9 3-3-1-3 |40.7| — | 5 | 425 ﬁﬁg%% (EE)
R:TTyIa%I—F B:Tyx——X 3 | tmagis
417l s SSFF 5 i 5 ?Z_Bgﬁi 1(:13/42.)0 2-2-1-2 | 40.9| — 6 430 %gﬁ; (Gt
Q=29 K BV ALT—Z b ) Hass—a
5 NEVEPPI=Er it o4 ;J%fig*ﬂﬂz 1(/3;5) 4-4-4-4 | 40.8| — 2 418 ﬁi;‘ii (EH)
R:7RwA4¥ay—-> B:aXET7VF 2 EvilLy RT7—L
6B 3| A= AU Bt (173;70) 8-8-9-8 [30.9| — | 10 | 470 Eg;{ﬁ@ ()
L:XF¥vya2—Hd—I K B:2q—r7O-— (1) REHIS
B =g A 5 | ENEE 1:34.2 6-6-7-5 |40.7| — 3 465 | BAEA ()
71717 SA—=TTTIYT e 54.0 (1 1/2) 7) | EEME
LT Y TFr BT NYLH ES 2]
3 4| T RTI4X # 7 gﬁﬁoékﬁ 1:(314).4 5555 |[41.1| — | 8 | 418 ggfg ()
RizZa—A2I5K Bizv/AmEyan 2 |\ xe77-n
9l1/1|¥F X o4 g’méﬁz 1(734t)5 10-10-10-9 | 39.8 | — | 7 | 431 Eigﬁw ()
QUL TATIALK g A b O g
IR ILES 6 ?_5?39% (12314/29) 7-7-8-10 [41.0| — | 9 (4_3“7) gﬁ?i’_& 7{%3@3)#
R:vUIPN—FK B:FILS—h— B O 45
® 1—F—@EBIERL
1T=7r= 2,8,5,6,4,7,9,3,10,1
23— — 2,8,5,6,4,7,9,3,10,1
Jol=5r= (5,8),2,6,4,10,7,9,3,1
40 —F— 2,8,5,6,(4,7,10),3,1,9
[ N5
B 10 580H 714K 2-10 350 e E 2-8 1,000 JEE 2-5-10 2,670M
B B 10 1504 5-10 650 B = 2-10 780/ JEE 10-2-5 17,700M
2 130M 2-5 510 B H 10-2 2,560
5 310

ABICOVWTRDTEEERROODE. TR LIV,



